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Sample Paper – 2010
Class – XII
Subject – Mathematics
General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 29 questions divided into three sections A, B and C. Section A   comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 7 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 4 questions of four marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for logarithmic tables, if required.
SECTION - A

1.
Find the matrix X, so that 
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2.
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3.
If 
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4.
Evaluate: 
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5.
What is the derivative of 
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  w.r.t. x?

6.
The radius of a circular plate increases at the rate of 0.1 cm/sec. At what rate does the area increases when the radius of the plate is 25 cm?
7.
Discuss the applicability of Rolle’s theorem for the function 
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 on the interval 
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8.
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9. Evaluate:
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10.
Determine the order and degree of the differential equation   
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SECTION – B

11.

If 
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, find the values of a and b.

12.
If 
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   find 
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13.

Using properties of determinant prove that:
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OR
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14.
Solve: 
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15.
If 
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16.
If 
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17.
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18.

Using differentials, find the approximate value of  
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19.
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OR
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20.
Find the intervals in which the function 
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21.
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22.
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SECTION – C

23.
If 
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24.
An open box, with a square base, is to be made out of a given quantity of metal sheet of area
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A window is in the form of a rectangle surmounted by a semi-circle. If the total perimeter of the window is 30 m, find the dimensions of the window so that maximum light is admitted.
25.
Evaluate: 
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26.
Using integration, compute the area bounded by the lines x + 2y = 2, y − x = 1 and 

2x + y = 7.

27.
Find the area of the region bounded by the parabola 
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28.
Solve the differential equation: 
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29.
A company manufactures two types of toys A and B. Toy A requires 4 minutes for cutting and 8 minutes for assembling and toy B requires 8 minutes for cutting and 8 minutes for assembling. There are 3 hours and 20 minutes available in a day for cutting and 4 hours for assembling. The profit on a piece of toy A is Rs. 50 and that on toy B is Rs 60. How many toys of each type should be made daily to have maximum profit?
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